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L L 50cm 0.08 0.08 0.07 0.07 0.06 0.06
97 i BT =SEFRK Fih S 9810H
m 0.07 0.07 0.07 0.07 0.06 0.06
_ 50cm 0.04 0.04 0.06 0.06 0.06 0.06
98 | LvhET REE HRERER 98108
1m 0.04 0.04 0.05 0.06 0.05 0.06
50cm 0.06 0.06 0.05 0.06
99 LhETh REE NIZRERBETELS 98 10H EFERBEOINELEOH. FBEODOAEIE
1m 0.05 0.06 0.06 0.06
\ \ \ 50cm 0.06 0.06 0.04 0.06 0.06 0.06
100 | LvbhET —EHE JALODEZELE 98108
1m 0.06 0.06 0.05 0.05 0.06 0.06
50cm 0.05 0.05 0.06 0.06 0.07 0.07
101 | LvbhETH R TFENHE 98108
im 0.05 0.06 0.06 0.07 0.06 0.06
50cm 0.06 0.07 0.05 0.06 0.06 0.07
102 | LvbhEM INERR WhETILTEE Z/INER 9H108
1m 0.06 0.05 0.06 0.06 0.06 0.07
. 50cm 0.07 0.06 0.07 0.07 0.06 0.07
103 | LvbhEmh h2EA WhETIL 7R E Zh 2R 9H108
Tm 0.07 0.07 0.06 0.07 0.06 0.07
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